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Siméon Denis Poisson
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u = exp(a + bx) < log(u) = a + bx
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Data = read.csv("student-por.csv",header=T) ‘f, e s e M sl i il

pois =
glm(absences~famrel+famsize+Medu+Fedu+M
job+Fjob+studytime+freetime+health, family =
poisson, data=Data)

summary(pois)
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Estimate  Std.Error  t value Pr(>|t])

GfEEff) (BRHERAZE) (i) (pfi)

Y (by) 2.193 0.142 15.444 0.000%*
RIgLDOBRYE (b)) -0.115 0.021 -5.558 0.000%*
RO N (by) 0.012 0.045 0.265 0.791
BEBLZ2HE (bs) 0.006 0.028 0.209 0.834
RBIFIE (by) 0.098 0.026 3.783 0.000%*
FE~IV AT (bs) -0.601 0.121 -4.991 0.000%
RHEZ DAl (bg) 0.074 0.058 1.286 0.199
R RY—EZ (b)) 0.207 0.069 3.017 0.003
RSB0 (bg) -0.173 0.098 -1.763 0.078.
REENIVATT (bg) -0.185 0.149 -1.241 0.215
REEZ DR (byo) -0.142 0.079 -1.794 0.073.
R RY—EZ (by,) -0.278 0.086 -3.244 0.001 **
RUEB (b12) -0.404 0.126 -3.196 0.001 **
SRR (b,5) -0.208 0.027 -7.826 0.000%*
AR % B EHIRER] (by4) -0.018 0.020 -0.943 0.346
TERRIREE (b, o) -0.026 0.014 -1.826 0.068.
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Estimate Pr(>|t])

(2 fiED) (pfitD)
R OBRE (b)) -0.115  exp(h,) = 0.89 0.000 %
RPLIFEIE (by) 0.098 exp(h,) = 1.10 0.000%+*
BRANIVAT T (bs) -0.601 exp(bs) = 0.55 0.000%+*
R RY—E R (by) 0.207 exp(bg) = 1.23 0.003*+
AR RS —E R (by) -0.278 exp(by;) = 0.76 0.001 **
RIRHI: (by2) -0.404 exp(by;) = 0.67 0.001 **
SHRBRIRERA (b1) -0.208 exp(hy3) = 0.81 0.000%
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i = ngexp(a + bx;),
log(u;) = log(n;) + a + bx;
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pois = glm(y~x, family = poisson, data=Data, offset = log(“Z4 7tV ZEH4"))
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